CLASS24

Probability

A Theoretical Approach

Here, we try to predct what will appen withowt actually perfonmng the expermment. We assume
that the outcomes of an expernnent are equally Lkely, We find that the experunental probability
of an event approaches is theoretical probabihty if the munber oftrinls of an experunent s very
large.

Random Experiment

When an expernnent 15 repeated several tunes the resull nny not be the same. These repetitons
are called trals.

The theoretical probalulty (classiwcal probability) of an event "L written as P(E) 15 defined as, P
(E)

Number of aut comes favourable to E

~ Number of all passible out comes of the experiment

Compound Event
An event connected to a random experiment & a componid event if it 15 obtamed by combining
two or more elementary events coltectad to the random expermment,

Occwrmence of an event
An evenl correspondmg (o a random experunent 15 said to ocewr if any oue of the elenentary
eveuts comespondmye (o the event s the outcone.

Impossible events
The event wlich never occurs 15 an unpossible event. So the probabiity ofan unpossible event i
always 7ero.

Sure cvent

The event wluch certamly ocows 5 a sure evernl.

In general, # is tne that for an event E,

P(EY=1=P(E)

Here the event E & representing "not E™ This 1s called the compound of the event 'E'. So 'L and

E are complementary events,
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Canls: A pack of cards conssts of four suits.

They are

Spades#

Hearts »,

Dianond  eamd

Chibs o=

Each suit consists of 13 cards. nne cards mumbered 2,34 10, anace a jack, a queen, and a
kmg Spades and Clubs are bk weolow. Heants and Damomnds are red m colr. So there are
26 bhick cards and 26 1ed cards, Kmg queen and jack are called face cards. There ate totally 12
(4 x 3) face cards m a pack of 52 cards. Le. in eaclisud we have 3 face cards.
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Colns: A coin has twe sides nanely head and tail. Tothe experiment of tossing a coin once, there
are 2 possible outcomes - 1 head, 1 rail

P (Head) = ~;1’-=P{'Tﬂiﬂ

Die: A die 5 a well balnced cube wirtli six faces nunibered fiom 1 10 6. Dice 15 the phoal form
There are six equaly lkely onteomcs — 1,2, 3, 4,5, 6w a smgle twow.




	Slide 1
	Slide 2
	Slide 3

